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Direction (1-5): Read the following
information carefully and answer the
questions given below.

Eight family members A, B, C, D, E, F, G and
H are sitting around a circular table with equal
distance between them but not necessarily in
the same order. Some of them are facing the
centre with some face outside i.e. opposite to
centre.

C sits second to the right of F, F faces the
centre. A is a mother of C. Only two people sit
between C and B i.e either from C’s right or
C’s left. D’s Daughter, G sits second to the
right of C. No female is an immediate
neighbour of H. A’s mother H sits to the
immediate right of B. G and B face opposite
direction. Immediate neighbour of G face the
same direction. C is the sister of E. F is father
of E. Only three people sit between A’s
Brother who is D and E. Neither D nor A is an
immediate neighbour of F. E sits second to
the right of A. E is the mother of B. Both H
and E face a direction opposite to that of C. C
is not an immediate neighbour of A's
husband.

D sits to the immediate right of which of the
following person?

A G

B.H

C. Either option A or B

D. Both option A and B

E. None of these

How many persons are facing outside?

A. Two B. Three

C. Four D. Five

E. None of these

How many females are there in the family?

A. Two B. Three

C. Four D. Five

E. None of these

How many people sits between E and her
uncle, when counted from the right of E?

A. Two B. Three

C. Four D. Five

E. None of these

Who is F's Mother -in-Law?

A A B.G

C.B D. H

E. None of these

Free Test for
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Direction: In following question, below are
two conclusions followed by five statements.
You have to choose the correct set of
statements that logically satisfies given
conclusions.

Conclusion:
I. Some mobiles are branded.

II. All gadgets being branded is a possibility.

Statement:
I. All gadgets are costly. All costly is branded.
No mobile is branded.

II. No gadget is costly. Some costly is
branded. All mobiles are branded.

III. Some gadget is costly. No costly is
branded. Some mobiles are branded.

IV. No gadget is costly. Some costly is mobile.
All mobiles are costly.

V. All gadgets are costly. No costly is
branded. Some mobiles are branded.

A. Only Statement III.
B. Only Statement V.
C. Only Statement II.
D. Only Statement IV.
E. Only Statement 1.

Direction: In following question, below are
two conclusions followed by five statements.
You have to choose the correct set of
statements that logically satisfies given
conclusions.

Conclusion:
I. All play being hockey is a possibility.
II. Some matches are not hockey.

Statement:
I. Some play are cricket. All cricket are
matches. Some matches are hockey.

IT. Some play are cricket. No cricket is match.
Some matches are hockey.

III. Some play are cricket. Some cricket are
matches. No match is hockey.

IV. All play are cricket. All cricket are
matches. Some matches are hockey.

V. All play are cricket. Some play are
matches. No match is hockey.

A. Only Statement I.
B. Only Statement V.
C. Only Statement 1V.
D. Only Statement III.
E. Only Statement II.
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10.

Direction: In following question, below are
two conclusions followed by five statements.
You have to choose the correct set of
statements that logically satisfies given
conclusions.

Conclusion:

I. Some radio are not car.

II. Some bike are radio.

Statement:

I. Some car are bike. No bike is radio. Some
radio are kite=charger.

II. No car is bike. All bike are kite. Some kite
are radio.

ITI. All car are bike. No bike is radio. Some
radio is kite.

IV. No car is bike. Some bike are kite. All kite
are radio.

V. Some bike are car. No bike is kite. Some
kite are radio.

A. Only statement III.

B. Only statement I.

C. Both statements III and V.

D. Only statement 1IV.

E. Both statements II and IV

Direction: In following question, below are
two conclusions followed by five statements.
You have to choose the correct set of
statements that logically satisfies given
conclusions.

Conclusion:

I. All Fan being Bed is a possibility.

IT. No Fan is paper.

Statement:

I. Some Fan are Shoes. No Shoes is paper. All
paper are Bed.

II. Some Fan are Shoes. No Shoes is paper.
Some paper are Bed.

III. All Fan are Shoes. No Shoes is paper. All
paper are Bed.

IV. No Fan is paper. Some paper are Shoes.
All Bed are paper.

V. All Fan are Shoes. No Shoes is paper. All
Bed are paper.

A. Both statements III and IV.

B. Only statement III.

C. Both statements I and V.

D. Only statement V.

E. Only statement I.

Direction: In following question, below are
two conclusions followed by five statements.
You have to choose the correct set of
that logically satisfies given

statements
conclusions.

Free Test for

11.

12.

13.

14.
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Conclusion:

I. Some K are R.

II. Some Z are not F.

Statement:

I. Some Z are R. Some R are K. No K is F.
II. Some Z are R. All R are K. No K is F.
ITI. All Z are R. All R are K. Some K are F.
IV. All Z are R. Some R are K. No K is F.
V. Some Z are R. Some R are K. No R is F.
A. Both statements II and V

B. Only statement III

C. Only statement I

D. Both statements II and III

E. Only statement IV

Direction (11-15): Read the
information  carefully and
qguestions that follow:

P, Q R, S, T, Vand W are seven different
boxes of different colours i.e. black, silver,
red, pink, yellow, white and green but not
necessarily in the same order.

Box S is immediately above yellow colour box.
More than three boxes are there between pink
and silver colour box. There are two boxes
between the box Q and box T. There is only
one box between box T and box W. There are
three boxes between box W and box P, which
is of black colour. There are only two boxes
between box P and box R, which is of white
colour. The silver colour box is immediately
above the box W. More than three boxes are
there between yellow and pink colour box. T
is of red colour box.

Which box is of yellow colour?

following
answer the

A. Q B.S
C.V D. W
E. P

How many boxes are there between green
colour box and silver colour box?

A. One B. Two
C. Three D. Four
E. None

Box Q is of which colour?

A. Silver B. Green
C. Yellow D. Black
E. Pink

Which box is placed immediately above red
colour box?
A.P
C.R
E. W

B.S
D.T
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15.

16.

17.

18.

19.

How many boxes are there between box W
and box Q7

A. None B. One
C. Two D. Three
E. Four

Direction (16-18): Answer the following
questions.

A person is looking for a new home address
on maps and he went accordingly. He went 90
metres in the west before turning to his right.
He went 20 meters before turning to his right
again to look for the home near his uncle’s
home 50 metres from this point. From here
he went 100 metres to the South before
reaching his new home in a street. After
reaching his new home he went to shop which
he went by going 80 meters north before
turning right and then 60 meters.

What is the smallest distance between the
starting point and his new home position?

A. 45 B. 29V/5

C. 40V/5 D. 70V9

E. None of the above

What is the smallest distance between the
shop and his new home position?

A. 80 B. 100
C. 50 D. 60
E. 120

What is the direction of the starting point with
respect to his new home?

A. North B. North-west
C. North-east D. South-west
E. None of the above

Direction (19-21): Study the information
given below and answer the questions based
on it.

Seven persons P, Q, R, S, T, U and V are
belonging to the same family. It is a three
generation family and two couples are there
in the family. R is father of U. P is mother S. R
is married to T. T is daughter-in-law of P. V is
father of R. U is a male. T has only one
daughter. P has no daughter.

How is P related to S?

A. Father B. Sister
C. Grandmother D. Mother
E. Aunt

Free Test for

gradeup

20. How many male members are there in the

family?
A1l B. 2
C.3 D. 4
E.5
21. How is U related to S?
A. Nephew B. Niece
C. Uncle D. Brother
E. Son

Direction (22-26): Each of the questions
below consists of a question and three
statements numbered I, and II given below it.
You have to decide whether the data provided
in the statements are sufficient to answer the
qguestion. Read all the three statement and
give answer.

[Digits/symbois[8 [% [3 [7 [s [s [1 Je [@J2]# [s]e [*[&]!]
[Lettercode [P [Mm |1 [T [rRla i | Ja JeE]Juln]ee]L [s]

i) If the first element in the group is a symbol
and the last element is a digit, the codes are
to be interchanged.
i) If the first element in the group is a digit
and the last element is a symbol, both are to
be coded as the code for the digit.
iii) If both the first and the last elements are
even digits both are to be coded as 'X'.
iv) If both the first and the last elements are
odd digits both are to be coded as ‘Y.
22. 8% ©93*
A. PMFTIL B. PMFTIP
C. BMFTIB D. XMFTIX
E. None of these
23. $18960©
A. RQJTNH B. QJPRBA
C. RQJTNR D. YQJTNY
E. None of these
24, 2*#836
A. YBEJIY B. ABEJIN
C. NBEJIA D. XGUPIX
E. None of these
25. 8732@9
A. FTIERH B. PTIREH
C. PTIEHR D. XBEJIX
E. None of these
26. 7#$%35
A. YUQMIY B. XUQMIX
C. YQUIMY D. YUQMIX
E. None of these
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27.

28.

29.

30.

31.

Direction (27-31): Study the information
given below and answer the questions based
on it.

Eight persons A, B, C, D, E, F, G and H are
sitting in a straight line and facing north. D is
father of A and sits 3™ to the right of A. E is
wife of C who is brother of A. C is 2" to the
left of A. D and C are not at any end. F’s
mother is 3™ to the left of A. G is mother of H.
E is 3 to the left of G. E is not neighbor of C.
D’s wife is immediate right of D. H's daughter
is 39to the left of H. D has only one
daughter.

Who among the following is immediate left of
A?

A. C B.B

C.F D.D

E.G

How is G related to A?

A. Father B. Sister

C. Mother D. Grandmother
E. Brother

How is D related to the one who is 2™ to the
right of A?

A. Father B. Sister

C. Mother D. Grandmother
E. Brother

Which of the following pair sit at the ends?

A.Band D B. Aand G
C.Hand G D.Band G
E. Band H

Which of the following statement is TRUE?
A. Ais brother of C

B. Two persons sit between E and D

C. None is true

D. B is mother of F

E. H is 2" to the right of G

Direction (32-33): Study the following
information carefully and answer the
questions given below.

'A * B' means 'A is not smaller than B'

'A @ B' means 'A is neither smaller nor equal
to B'

'A'$ B' means 'A is neither greater nor equal
to B'

'A % B' means 'A is not greater than B'
'A # B' means 'A is neither smaller nor greater
than B'

Keeping the above conditions in mind a

statement is given which is followed by two
conclusions. Choose the correct one among
the options.

Free Test for

32.

33.

34.

35.
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Statement:
A*C,C#B,D$A E*XA
Conclusion:

I.E@B

I.LE#B

A. Only conclusion I follows

B. Only conclusion II follows

C. Either conclusion I or II follows

D. Neither conclusion I nor II follows
E. Both conclusion I and II follows
Statement:

H$G E%F, F#H,I1$A
Conclusion:

I.LI@E

II.L.H$I

A. Only conclusion I follows

B. Only conclusion II follows

C. Either conclusion I or II follows

D. Neither conclusion I nor II follows
E. Both conclusion I and II follows

Direction (34-38): Study the information
given below and answer the questions based
on it.

Eight persons A, B, C, D, E, F, G and H are
staying on eight storey building. Lowermost
floor is numbered 1 and topmost floor is
numbered 8. They like different colors i.e.
Red, Pink, Silver, Blue, Black, Brown, White
and Yellow, not necessarily in the same order.
C likes Yellow and is staying on an odd
numbered floor. Three persons are staying
between C and B. B lives above C. The
number of floors between B and A is same as
C and D. A lives above D but below B. Two
floors are between B and E who likes Brown. E
doesn’t stay on top floor. G likes White and
lives below E. Two floors are between G and
the one who likes Pink. One floor is between F
and H who likes Red. At least one person is
staying between F and A. The one who likes
Blue is staying just above the one who likes
Black. C doesn't like Silver.

Which of the following doesn’t belong to the

group?

A.F B.H

C.E D. G

E.D

Which of the following combination is correct?
A. B-Blue B. F-Black

C. C-Yellow D. D-Yellow

E. A-Black
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36.

37.

38.

39.

40.

How many persons are staying between D and
A?

Al B. 2

C.3 D. 4

E. More than 4

Who among the following likes Silver?

A.D B.B

C.F D.A

E. G

Which of the following statement is TRUE?
A. F lives on bottom floor

B. H lives just below A

C. The one who lives on 1%t floor likes Yellow
D. One person is staying between A and C
E. B lives below D

Direction (39-40): Study the information
given below and answer the questions based
on it.

Six students Parul, Queen, Rohit, Sudha,
Tisha and Vinay are the top six rankers of the
class. No two persons got the same rank. The
student who got the highest marks is given
rank 1 and the student who got the least
marks is given rank 6. Tisha got less marks
than both Vinay and Parul. Rohit got more
marks than Queen but less than Sudha. Tisha
got the second least rank and Parul got the
second highest rank, Vinay got less marks
than Rohit.

Who got the highest marks in the class?

A. Tisha B. Rohit
C. Sudha D. Vinay
E. Parul

Direction: Study the information given below
and answer the questions based on it.

Six students Parul, Queen, Rohit, Sudha,
Tisha and Vinay are the top six rankers of the
class. No two persons got the same rank. The
student who got the highest marks is given
rank 1 and the student who got the least
marks is given rank 6. Tisha got less marks
than both Vinay and Parul. Rohit got more
marks than Queen but less than Sudha. Tisha
got the second least rank and Parul got the
second highest rank, Vinay got less marks
than Rohit.

What is the rank of Vinay in the class?

A. 1t B. 2nd
C. 3 D. 4t
E. 5t

Free Test for

41.

42,

43.

44,

45,
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Direction: In the following question, there
are two equations. Solve the equations and
answer accordingly:

I. 8p+79q+7pq=25

I1.2p+2g=6-2pq

A. p>q B. p<qg

C. p=q D. p=q

E. p=q OR No relation can be established
(CND)

Direction: In the following question, there
are two equations. Solve the equations and
answer accordingly:

I. 5x? - 12x+ 7=0

II. 6y? + 16y + 8=0

A.xX>y B.x=>y

C.y >x D.y =x

E. x = y or relationship cannot be establish
Direction: In the following question, there
are two equations. Solve the equations and
answer accordingly:

I. 16x = 122 + V4096 - 4x2

II. 22.03y = 6.48y?

A.X>y B.x=>y

C.x<y D.x<y

E. x=y or no relationship can be established
between x and y

Direction: In the following question, there
are two equations. Solve the equations and
answer accordingly:

I.x+ 3/2x =5/2

v S
II.\rY-w..},—O
A Ifx<y B.Ifx >y
C.Ifx<y D.Ifx>y

E. relationship between x and y cannot be
established.

Direction: In the following question, there
are two equations. Solve the equations and
answer accordingly:

I.4x> +17x+15=0

II. 3y + 19y + 28 =0

A ifx>y

Jifx >y

Lifx <y

Jifx <y

. if x = y or the relationship cannot be
established

mo O
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46.

47.

48.

49.

50.

Direction: Study the following information
and answer the question.

Ratio of male to female students in a school is
4 :3. All the students study in different classes

1
(Class - 1, 2, 3, 4 and 5). 125% of all the

male students are in class 1. No. of male
students in class 2 is 78 more than no. of
male students in class 4. Total no. of male
students in class 2 and class 4 is 330. In class
5 no. of male students is 18, which is 3% of

1
the total no. of male students. 11;% of the

female students study in class 2. No. of
female students in class 5 is 9 more than the
male students in the same class. No. of
female student in class 1 is 36 less than the
no. of female students in class 4. No. of
female students in class 3 is 150% more than
female students in class 2.

What is the total no. of students studying in
class 4?

A. 246 B. 268
C. 289 D. 284
E. 276

What is the ratio of no. of male students in
class 1 to no. of female students in class 2?

A.2:3 B.2:1
C.1:2 D.3:2
E.4:3

No. of female students in class 3 is what
percentage of no. of male students in the
same class?

A. 66.80% B. 74.32%
C. 64.78% D. 68.87%
E. 70.62%

What is the difference between the total no.
of students of class 2 and class 3?

A. 52 B. 66

C. 48 D. 36

E. None of these

No. of male students in class 5 is what
percentage of total no. of students in the
school?
A.1.71
C. 1.39
E. 1.97

B. 2.04
D. 1.62

Direction (51-53):
information and
questions.

Read the following
answer the following

Free Test for

51.

52.

53.

54.

55.
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Isha gave 3 exams: 15t paper, 2" paper and
3 paper. The probability the she passes the
1st paper is 0.6. If she passes in any paper,
the probability that she passes the next paper
is 0.7. Otherwise the probability is 0.9.

What is the probability that Isha passes in all
three papers?
A. 0.6

C. 0.294

E. None of these
Find the probability that she passes in exactly
one paper?

A. 0.108 B.
C. 0.162 D.
E. None of these

The age of Abid X years ago was half of what
his age would be X years from now. The age
of the same person Y years from now would
be six times of what his age was Y years ago.
What is the value of the ratio X : Y ?

A.3:2 B.2:3

C.1:4 D.7:15

E. None of these

Direction: A guestion is given followed by the
information in three statements. You have to
decide the information in which of the
statements is necessary and sufficient to
answer the question and mark answer
accordingly.

What is the rate of interest for a sum at
compound interest?

I. The sum invested is Rs.10,000

II. In two years, the sum amounts to

Rs.2340

III. In one year, the sum amounts to Rs.5460
A. Tand II only

B. IT and III only

C. I and III only

D. Any two of I, IT and III

E. All I, II and III

Direction: A question is given followed by the
information in three statements. You have to
decide the information in which of the
statements is necessary and sufficient to
answer the question and mark answer
accordingly.

What is the number of goats in a group of
goats and hens?

I. The total number of hens is 25

I1. The number of legs are 40 more than twice
the number of heads

ITI. If 5 rabbits be included in the group, the
total number rises to 50

B. 0.42
D. 0.54

2
1

0.26
0.19
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56.

57.

58.

A.Iand II only

B. II and III only

C. I and III only

D. Any two of I, I and III

E. Either I and III or II

Direction: A guestion is given followed by the
information in three statements. You have to
decide the information in which of the
statements is necessary and sufficient to
answer the question and mark answer
accordingly.

What are the three successive discounts a, b
and c?

I. The resultant discount of the two successive
discounts is 32%.

II. The resultant discount
successive discounts is 51.4%.
III. The third successive discount is 35%.
A. I and II only

B. II and III only

C. I and III only
D
E

of the three

. Any two of I, II and III

.All I, II and III
Direction: A question is given followed by the
information in three statements. You have to
decide the information in which of the
statements is necessary and sufficient to
answer the question and mark answer
accordingly.
What are the speeds of trains A and B?
I. Trains A and B of lengths 120 m and 100 m
respectively run on parallel tracks.
II. When running in the same direction the
faster train passes the slower in 27 seconds.
III. When running in opposite directions, they
pass each other in 12 seconds.
A. I and II only
B. II and III only
C. I and III only
D. Any two of I, IT and III
E. All I, IT and III
Direction: A question is given followed by the
information in three statements. You have to
decide the information in which of the
statements is necessary and sufficient to

answer the question and mark answer
accordingly.

A boat takes 4 hours to go upstream from A
to B and back downstream from B to A on a
canal. What is the speed of the boat on still
water?

Free Test for

59.

60.

61.

62.
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I. The distance between A and B is 6 km.

II. The boat takes 2 hours less to go
downstream than upstream.

III. The speed of the water current is 2 kmph
A. Iand II only B. II and III only

C. I and III only D. Any two of I, IT & III
E. All I, II and III

A product cost $81 in country Abma and $625
in country Yalka. In country Abma, the cost of
the product increases by 25% per month,
whereas in country Yalka, it decreases by
25% per month. Determine the number of
months after which the cost of the product in
country Abma becomes equal to the cost of
the product in country Yalka.

A 3 B. 4
C.5 D. 6
E.2

A school has to be built between two cities, P
and Q which are 80 km apart. 200 students
from town P will be attending the school
compared to 100 students from town Q. The
cost of travelling is 1.5 rupees per km. Find
the location of the school, if the cost of
transportation should be minimum.

A. 30 km from town P

B. 45 km from town P

C. 30 km from town Q

D. At town P

E. At town Q

A bottle was full with Honey. Ravi used to
draw out 40% of the honey from the bottle
and replaced it with water. He has repeated
the same process 3 times and thus there was
only 945 ml of honey left in the bottle, the
rest part of the bottle was filled with the
water. Find the initial amount of honey in the
bottle.

A. 7.225 B.11.123
C. 3.450 D. 2.125
E. 4.375

A, B and C can do a piece of work in 40, 15
and 30 days respectively. In how many days
A can do the work if he is assisted by B and C
on every third day?

3 1
A.17— days B. 17— days
7 Y 7 Y

7
C. 172 days D. 20 days

E. None of these
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63.

64.

65.

66.

67.

68.

Ramu, Somu and Domu together can
complete a work in 4 days. The wages paid to
Ramu, Somu and Domu for completing the
work are Rs.6300, Rs.7350 and Rs.8400
respectively. Find the number of days in
which Domu alone can complete the work?

j@gmdeup

Direction (69-73): This following table is
related to profit and loss and some values are
missing. All the discounts are on the M.P. and
the Profits are on C.P. Read the Questions
carefully and answer the question:

A. 9.5 B. 10 Article | Cost Price | Profit (%) M:rl}tzd Dligzl)mt Selling Price
C. 10.5 D. 11 A 1250 - 1400 -

E. 11.5 B 2 £ = z

Manoj got Rs 6000 as his share out of the = Fon = = = =
total profit of Rs 9000 which he and Ramesh E = 20% 4000 = =
earned at the end of one year. If manoj

invested Rs 20000 for 6 months, whereas 69. If the profit % and discount % of the Article D

Ramesh invested his amount for the whole

is same. Find out the Marked Price of Article D

year, the amount invested by Ramesh was A. Rs. 900 B. Rs. 1222.22

A. Rs 10000 B. Rs 5000 C. Rs. 909 D. Rs. 999

C. Rs 1000 D. Rs 40000 E. None of these

E. None of these 70. If the ratio of the Cost Price of the Article D
Two partners Anita and Sunita invest and Article E is 4:5, find out the discount % of
Rs.125000 and Rs.85000 respectively in a Article E

business and agree 60% of the profit should A. 32.3% B. 62.5%

be divided equally between them and the C. 30.25% D. 32.25%

remaining profit is to be treated as interest on E. 33.33%

capital. If one partner gets Rs.300 more than 71. If the M.P. of Article A is Rs. 250 more than
the other, find the total profit made in the the C.P. of Article B and the difference
business. between M.P and S.P. of Article B is Rs. 1258.
A. 3850.70 B. 3243.23 Find the discount % of Article B

C. 2155.63 D. 3937.50 A. 51.52% B. 20.52%

E. None of these C. 50.52% D. 51%

Sapna borrowed Rs. 900 at 10% p.a. E. None of these

compound interest. If she pays back 500 at 72. C .P. of Article D is how much % less than the
the end of the 15t year, find the amount which M.P. of Article A?

she has to pay in the 2" year to clear his A. 29% B. 27.1%

debt. C. 28.57% D. 28.6%

A. Rs. 400 B. Rs. 589 E. None of the above

C. Rs. 539 D. Rs. 550 73. Find the Selling Price of Article C, if there is a
E. None of these hike in Profit % by 12.5%. Assume the
It costs Rs.8960 to paint the four walls of a Marked price for item C is 6/5 of cost price.
hall. The cost of painting is Rs.8 per square A. Rs. 2178.5 B. Rs. 2718.5

foot. If the length and breadth of the C. Rs. 2158.5 D. Rs. 2871.5

rectangle are 20 feet and 12 feet, what is the E. Rs. 2817.5

height of the hall? 74. Peter, Sana, and Gavin are visiting the Adams
A. 10 feet B. 12.5 feet family who are staying 200km away. Each of
C. 17.5 feet D. 15 feet their walking Speeds is 10 km/h. Initially,
E. 16 feet Peter and Gavin travel in a car at the rate of

A man can row 18 km upstream and 42 km
downstream in 6 hours. Also he can row 30
km upstream and 28 km downstream in 7

50kmph and Sana walks the Distance. After a
while, Gavin gets off the car as he feels
nauseated and walks the rest of the Distance
to the house. Peter goes back in the car to
fetch Sana and they all reach the house at the
same Time.What was the entire Time involved

hours. Find the speed of the man in still

water.

A. 8 km/h B. 10 km/h

C. 4 km/h D. 12 km/h in traveling?

E. None of these

Free Test for
IBPS RRB OS 1 & Asst. Exams

ATTEMPT NOW


http://www.gradeup.com/
https://xu75j.app.goo.gl/2ULb

www.gradeup.co

75.

76.

77.

78.

A. 10 hours 7 hours
C. 8 2 hours 8 hours
E. 5 hours

A and B are running round a circular track of
length 600m in opposite directions at speeds
of 15m/s and 10m/s starting at the same time
from the same point. In how much time will
they meet for the first time anywhere on the
track?

A. 60 sec B. 24 sec
C. 36 sec D. 50 sec
E. 30 sec

Direction (76-80): The following bar graph
shows the details of the number of two
wheelers sold and the number of two
wheelers exported during the years 2011 to
2015
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What is the percentage of increase in the
number of two -wheelers exported from year
2013 to 20147
A. 11Y/9%

C. 16%/3%

E. None of these
In every year if the selling price of any two
wheeler exported is 30% more than the
selling price of that sold in the local market,
then in which year was the revenue from the
exports higher than the revenue from the
local market?

B. 91/11%
D. 142/7%

A. 2012 B. 2014
C. 2011 D. 2015
E. 2013

In which year is the total number of two
wheelers (sold + exported) exactly 25% more
than the total number of two wheelers (sold +
exported) in any other year in the given

period?
A. 2012 B. 2011
C. 2015 D. 2014
E. 2013
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In which year is the total number of two
wheelers exported as a percentage of number

of two wheelers sold in local market the
highest?

A. 2012 B. 2011

C. 2014 D. 2015

E. 2013

From the year 2010 to 2011, the number of
two wheelers sold in the local market and the
number of two wheelers exported increased
by 25% and 20% respectively. In 2010 the
number of two wheelers exported is what
percent of the number of two wheelers sold in
the local market?

A. 56.5%

C. 75%

E. None of the above
PCA is a framework which is imposed by the
Reserve Bank of India on banks with a higher
percentage of Non Performing Assets. What
does P stand for in 'PCA'?

B. 62.5%
D. 45%

A. Public B. Private
C. Prompt D. Partnership
E. Parity

Kaimur Wildlife Sanctuary is located in which
of the following states?

A. Uttar Pradesh B. Bihar

C. Kerala D. Punjab

E. None of these

Mahesh Kumar Jain has been appointed as
fourth deputy governor for a three-year term.
Prior to this appointment, he worked as the
CEO of which of the following banks?

A. Canara Bank

B. Bank of India

C. Union Bank of India

D. IDBI

E. UCO Bank

Who among the following is the author of the
book '‘The Crisis within Knowledge and
Education in India’?

A. Anand Neelakanthan

B. Chetan Bhagat

C. Ganesh Devy

D. Ruskin Bond

E. Arundhati Roy

India signed a loan agreement of 200-million
Dollar with the World Bank for the National
Nutrition Mission (POSHAN Abhiyaan) for how
many districts across all Indian states and
union territories?
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86.

87.

88.

89.

90.

91.

92.

A. 634 districts
C. 500 districts
E. 215 districts
Which of the following statements regarding
Swadesh Darshan Scheme is/are correct?

1) It is a scheme under the Ministry of
Culture

2) The objective of the scheme is to develop
theme-based tourist circuits in the country.

3) Krishna Circuit is one of the circuits to be
developed under the scheme.

Select the correct answer using the codes
given below:

A. 1 Only

C. 2 and 3 Only
E. 1 and 3 Only
In June 2018, the Reserve Bank of India
conducted a Financial Literacy Week with the
focus on creating banking awareness. Which
of the following was the theme of the
Financial Literacy Week?

A. ‘Know Your Customer’

B. ‘Customer Protection’

C. ‘Know Your Bank’

D. ‘Safe Banking’

E. Other than the given options

Who among the following won the Canadian
Grand Prix 2018?

A. Daniel Ricciardo B. Max Verstappen

C. Valtteri Bottas D. Lewis Hamilton

E. Sebastian Vettel

'Hum hai na', is the tagline of which of the
following banks?

A. Kotak Bank B. Bank of Baroda

C. ICICI Bank D. Canara Bank

E. Indian Overseas Bank

Who among the following is the first-ever
interim woman President of Paraguay?

A. Janet Jagan B. Mary Robinson

C. Alicia Pucheta D. Elisabeth Kopp

E. Corazon Aquino

Under IMPS, a given amount can also be
remitted through ABR Service. What does
ABRS stand for?

A. Aadhaar Based Remittance Service

B. Aadhaar Based Resource Scheme

C. Aadhaar Based Refinance Service

D. Aadhaar based Redevelopment Scheme

E. None of these

The headquarters of the International
Maritime Organization (IMO) is located in ___.

B. 315 districts
D. 250 districts

B. 1 and 2 Only
1,2and 3
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B. London
D. Oslo

A. Vienna

C. Tokyo

E. None of these
Which of the following Kathak dancers has
been honoured with the prestigious Shri
Jayadev Rastriya Yuva Pratibha Puraskar 2018
for outstanding contribution in the field of art?
A. Pandit Durgalal

B. Anindita Anaam

C. Nirupama Rajendra

D. Sanjukta Sinha

E. None of these

Which of the following Indian female
cricketers holds the record of scoring 2000
runs in T20I?

A. Harmanpreet Kaur B. Jhulan Goswami

C. Ekta Bisht D. Mithali Raj

E. None of these

ISRO successfully launched ‘IRNS-11" satellite
on April 2018. The 'IRNS-11I' satellite replaced
which satellite after the failure of the IRNSS
1H mission in August 20177

A. IRNSS 1E B. IRNSS 1A
C. IRNSS 1C D. IRNSS 1B
E. IRNSS 1D

Fugitive Economic Offenders Bill, 2018 will
empower authorities to attach and confiscate
properties and assets of economic offenders.
For which of the following amounts is the term
'fugitive offender' applicable in the domestic
territory of India?
A. Rs. 500 crores

C. Rs. 100 crores

E. Rs. 5000 crores
The ‘Vikas She Plus’ loan scheme for women
entrepreneurs is launched by which of the
following banks?

A. Kaveri Grameena Bank

B. Maharashtra Gramin Bank,

C. Meghalaya Rural Bank

D. Karnataka Vikas Grameena Bank

E. Jammu And Kashmir Grameen Bank

Who won a Gold medal in men’s 50 meters
breaststroke event at 2018 Singapore
National Swimming Championships?

A. Adam Peaty

B. M M Sahu

C. Sandeep Sejwal

D. Arvind Mani

E. None of these

B. Rs. 1000 crores
D. Rs. 200 crores
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104.
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106.

What does BFD stand for with respect to
Aadhaar Enabled payment System?

A. Bank Finance Deficit

B. Best Finger Detection

C. Best Finance Deal

D. Bank Fraud Detection

E. None of these

Kanwar Lake Bird Sanctuary is located in
which of the following States?

A. Arunachal Pradesh B. Bihar

C. Chhattisgarh D. Andhra Pradesh

E. None of these

The headquarters of the ‘United Nations
Children’s Fund (UNICEF) is located in which
of the following places?

A. Washington DC, USA

B. Vienna, Austria

C. Paris, France

D. Geneva, Switzerland

E. New York City, USA

Which of the following iconic sites has been
added in the 3rd phase of its flagship project
of Swachh Iconic Places (SIP)?

A. Vidur Kuti of Bijnor

B. Nagvasuki Temple of Allahabad

C. Mana village of Chamoli

D. Hazardwari Palace of Murshidabad

E. All of the above

UTTAM App has been launched by which of
the following ministries?

A. Ministry of Power

B. Ministry of Petroleum and Natural Gas

C. Ministry of Coal

D. Ministry of Health and Family Welfare

E. None of the above

Who among the following is the head of the
commission to examine the issue of Sub-
categorization within Other Backward Classes
(OBCs) in the Central List?

A. Permod Kohli

B. D P Singh

C. Tapan Misra

D. Devender Kumar Sikri

E. G Rohini

Who among the following, has won the Man
Booker International Prize 2018 for fiction?

A. David Grossman B. Han Kang

C. Philip Roth D. Olga Tokarczuk

E. Ismail Kadare

ATMs which are set up, owned and operated
by non-bank entities incorporated under
Companies Act 1956, are called ___.
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A. White label ATMs

B. Brown label ATMs

C. Orange Label ATMs

D. Pink Label ATMs

E. Green Label Atms

Open Market Operation” is a popular term of
Indian Economy. What does it mean?

A. Borrowing by Union Government

B. Collection of Funds by Banks
C. Selling and purchase of
securities by RBI

D. Lending by RBI to common public in
distress situation

E. None of the above

On which of the following rivers, Nagarjuna
Sagar Dam is built upon?

Government

A. Kaveri B. Mahanadi
C. Tungbhadra D. Krishna
E. Bhima

Who among the following has been appointed
as the new MD & CEO of NPCI?

A. Mayank Singhal B. Dilip Asbe

C. A.P. Hota D. Manik Agarwal

E. None of these

What would a clerk do if he finds that the
amount written on a cheque, in words, and in
digits is different?

A. Consider it as a stale cheque

B. Clear the cheque by taking in account
value written in words.
C. Clear the cheque by taking in account

value written in digits.

D. Reject cheque and impose fine double the
value of cheque

E. None of the above.

In which of the following places
Bagdogra Airport located?

is the

A. Siliguri B. Kolkata
C. Malda D. Andal
E. Burnpur

The World Elder Abuse Awareness Day 2018
is celebrated on .
B. June 11

A. June 3
C. June 12 D. June 15
E. June 7

Select the capital of Brunei from amongst the
following.

A. Quito B. Suva
C. Tbilisi D. Bandar Seri Begawan
E. Sofia
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India with a production of around 20-25
million tonnes of sugar every year is the
world’s second-largest sugar producer after
which of the following countries?

A. Thailand B. China
C. Brazil D. Vietnam
E. Australia

Which state government has inaugurated
‘School Chale Hum Abhiyan 2018’ to boost
education and encourage children to enroll
themselves in schools?

A. Gujarat B. Punjab
C. Haryana D. Madhya Pradesh
E. Bihar

Veteran journalist Shujaat Bukhari who was
shot dead was the editor of which of the
following newspaper?

A. Jehlum Post B. Kashmir Observer

C. Kashmir Life D. Rising Kashmir

E. None of these

Which of the following constitutional
amendment bill was related to GST?

A. Constitution (102 Amendment) Bill, 2014
B. Constitution (101 Amendment) Bill, 2014
C. Constitution (121 Amendment) Bill, 2014
D. Constitution (122 Amendment) Bill, 2014
E. None of the above

Which of the following states launched the
‘Nidaan’ software for disease monitoring?

A. Punjab B. Odisha

C. Rajasthan D. Andhra Pradesh

E. Uttar Pradesh

Periyar National Park is located in which of the
following states of India?

A. Kerala B. Gujarat

C. Haryana D. Madhya Pradesh

E. None of these

Minister of Textile Smriti Irani is elected to
Rajya Sabha from which of the following
states?

A. Gujarat

C. Rajasthan

E. Uttar Pradesh
Direction (121-127): Read the given passage
carefully and answer the questions that follow.
Certain words are printed in bold to help you locate
them while answering some of these.

Thousands of years ago, fallout from volcanic
activity may have sounded a death knell for a
centuries-old Egyptian dynasty, according to a
new study. In Ptolemaic Egypt (305 B.C. to 30
B.C.), the region's prosperity was linked to
the flood cycle of the Nile River, with regular

B. Andhra Pradesh
D. Maharashtra
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flooding sustaining local agriculture. When
floods failed, so did crops, and social unrest
shook the region. The new study proposes a
link between historic volcanic activity and
disruption of the African monsoon rainfall
during the summer. A drier monsoon season
could have reduced Nile flooding, leading to
fewer crops and more food shortages and,
ultimately, initiating a societal unravelling that
led to the Ptolemaic dynasty's eventual
collapse, the study authors wrote.

When volcanoes erupt, they spew sulphur-rich
gases in plumes that can extend into the
stratosphere. These gases then oxidize and
form particles called sulphate aerosols that
can dramatically impact weather patterns
such as monsoons, the study authors
reported. "These aerosols are really effective
at reflecting incoming sunlight back to space,"
study co-author Francis Ludlow, a researcher
with the Yale Climate and Energy Institute,
told Live Science in an email.

"Hence, less energy reaches the earth's surface, so
we have cooling, and where we have cooling, we
also have less evaporation and less potential for
rainfall," he said. Aerosols produced by a volcanic
eruption in Iceland, for instance, could thereby sap
the heat driving the African monsoon, thus leading
to less rain and reduced Nile flooding, Ludlow
explained.

Piecing together the events in ancient Egypt
required delving into the geologic record for
evidence of global volcanic activity and
comparing that activity to fluctuations in
annual Nile flooding, recorded over centuries
with structures called nilometers. "It was
already known that the Nile was dependent on
the strength of the African monsoon each
summer, and that volcanism could alter the
monsoons," Ludlow said. The nilometers
confirmed that during years when there were
volcanic eruptions, the average Nile response
was lower flood heights, the researchers
found. Next, they needed to see if this finding
corresponded to social repercussions.

The scientists compared their data to
extensive records from the Ptolemaic dynasty
describing episodes of unrest — which were
previously unexplained — to see whether
these incidents overlapped with volcanism and
reduced flooding, Ludlow said. Archives
showed that, in the decade prior to the fall of
the Ptolemaic dynasty — which ended with
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121.

122,

123.

124,

Cleopatra's death in 30 B.C. — Egypt's
prosperity had weakened notably, with
repeated Nile flooding failure, famine, plague,
inflation, corruption, land abandonment and
migration taking a heavy toll, Ludlow told Live
Science in an email.

Source: livescience.com

What did the crop growth in ancient Egypt
depend upon?

A. On the sharing of water from the Blue Nile
between Ethiopia, Sudan and Egypt.

B. The flood cycle of the Nile River as
whenever the floods failed, the crops did too.
C. Social tensions as people grew hungry and
desperate.

D. The social and economic stresses.

E. The volcanic activity in nearby area.

What could have been the reason behind the
collapse of Ptolemaic dynasty according to
some authors?

A. Nile flooding reduced, hence fewer crops
were produced, that led to food shortages,
ending the dynasty.

B. Diminished supplies following the next big
eruption led to the collapse.

C. The volcanic eruption was the reason.

D. The tropical parts of the world were hit by
parasitic infection.

E. None of these

What factors are responsible for impacting
weather patterns such as monsoons?

A. Rising temperatures and changes to
precipitation may result in affecting weather.
B. A rise in carbon dioxide levels is the main
cause.

C. Sulphur-rich gases emitted by volcanic
eruptions oxidise and form particles called
sulphate aerosols that impacts weather
patterns.

D. A mosquito-borne parasitic infection called
lymphatic filariasis is responsible.

E. An alarming rise in antibiotic-resistant
bacteria led to it.

What did Ludlow explain about the cause of
less rain and reduced Nile flooding?

A. Crushed volcanic rock with no organic
material, make it nearly impossible for plant
life to survive.

B. They found that the crops grown under
elevated carbon dioxide levels had lower
levels of protein, zinc and iron.
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C. Increased levels of carbon dioxide in the
atmosphere, rising temperatures and changes
to precipitation.

D. The heat driving the African monsoon could
be drained by Aerosols produced by volcanic
eruptions.

E. Pests are responsible for 25 to 40 percent
of all crop loss.

What did the nilometers record about the
flood in Ancient Egypt?

A. When there were volcanic eruptions, the
average Nile response was lower flood
heights.

B. They sent some antibiotic resistance back
down the evolutionary pathway.

C. They enforced to stop using antibiotics in
agriculture, and also slowed down their
antibiotics use in medicine.

D. They showed a devastating impact on
agricultural regions that are presently
dependent on monsoons.

E. They provided data about volcanic

eruptions that aligned with notable social
unravelling.

Which of the following has a meaning similar
to the word “knell”?

A. Dramatization
C. Descry
E. Reverberation

B. Discern
D. Entreat

Which of the following has a meaning similar
to the word “repercussion”?

A. Contradiction
C. Backlash
E. Machination

Direction (128-132): In the following
passage, there are blanks each of which has
been numbered. These numbers correspond
to the question numbers; against each
question, five words have been suggested,
one of which fills the blanks appropriately.
A video game is a game that involves the
(###QLH#H##) with a user interface to
generate visual feedback on a video device.
Video games may have a reward system—
such as a score—that is based on
accomplishment of tasks set within the game.
Specialized video games such as arcade
games, while previously common, have
gradually (###Q2###) in use due to lack of
interest in such video games. Many players

ATTEMPT NOW
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130.

131.

132.

identify their platform of choice as a distinct
form of video gaming apart from the rest. The
main separations between platforms are their
design, technical capabilities, and available
video games. Beyond the common element of
(H##QI#H#H) feedback based on
participants observations, video games have
utilized other systems to provide interaction
and information to the player. In common
usage, a "PC game" refers to a game that is
played on a personal computer connected to a
high-resolution video monitor. A "console
game" historically has referred to a
specialized, single-purpose electronic device
that connects to a standard television set or
composite video monitor. A "hand-held" game
is a self-contained electronic device or
miniature computer and monitor combination
that is portable and can be held in a user's
hands. "Arcade game" generally refers to an
even more specialized type of electronic
device that is typically designed to play only
one game and is (###Q4###) in a special
cabinet. There are also devices with screens
that have the ability to play games but are
not dedicated video game machines. A video
game, like most other forms of media, may be
categorized into (###QS5###) based on
many factors such as the method of game
play, types of goals, and more.

Find the appropriate word in each case.

A. Wholeheartedness B. Description
C. Interaction D. Interest
E. Action

Find the appropriate word in each case.

A. Declined B. Improved

C. Denigrated D. Usurped

E. Multiplied

Find the appropriate word in each case.
A. Imaginary B. Contexual

C. Sensory D. Auditory

E. Visual

Find the appropriate word in each case.
A. Encumbered B. Handheld

C. Withheld D. Encased

E. Crushed

Find the appropriate word in each case.
A. Features B. Genres

C. Factors D. Levels

E. Folders
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Direction: In the following question, four
statements are given. Identify the pair of
statements opposite in meaning to each
other. If the correct opposite pair is not given
in the alternatives, mark ‘None of these’ as
the answer.

1) The preference to qualification over talent
has not only lead to a massive brain-drain
from the country but also a stagnation in the
national growth.

2) The country’s growth has been hindered by
the massive brain-drain which is an aftermath
of the improper criterion of employee
selection.

3) The massive turnover and the halt in the
national growth are a fallout of the
predilection for talent.

4) The national growth is directly proportional
to the attrition rate which has been kept up.

A.1and 4 B.1and3

C.2and 3 D.1and?2

E. None of these

Direction: In the following question, four

statements are given. Identify the pair of
statements opposite in meaning to each
other. If the correct opposite pair is not given
in the alternatives, mark ‘None of these’ as
the answer.

1) Al research uses tools and insights from
many fields, including computer science,
psychology, philosophy, neuroscience,
cognitive science, linguistics, operations
research, economics, control theory,
probability, optimization and logic.

2) Systems integration is seen as promising and
perhaps necessary for true AI, especially the
integration of symbolic and connectionist models.
3) Artificial Learning is based on empirical
data and is associated with non-symbolic A,
scruffy AI and soft computing.

4) Artificial learning, rather than being based
on experience and observation, pertains to
theoretical data.

A.1and 4 B.2and 3

C.3and 4 D.1and 3

E. None of these

Direction: In the following question, four

statements are given. Identify the pair of
statements opposite in meaning to each
other. If the correct opposite pair is not given
in the alternatives, mark ‘None of these’ as

the answer.
ATTEMPT NOW


http://www.gradeup.com/
https://xu75j.app.goo.gl/2ULb

wWww.gradeup.co

136.

137.

138.

1) As the topic of Talent Development (TD)
gets more research attention in Western
business, the need for understanding the
nature and the scope of TD activities in an
Eastern business context increases.
2) The findings revealed a lack of clarity in
defining ‘talent’ in all sample organizations
and the use of a variety of TD practices.
3) This study concludes with implications for
future research on and practice of TD activities.
4) Talent Development is becoming obsolete
in the Western market owing to the shrinking
of the opportunities that it used to provide in

the past.
A.1and 2 B. 2 and 4
C.2and 3 D.1and 4

E. None of these
Direction: A sentence with two blanks is
given, each blank indicating that something
has been omitted. Choose the words, a pair
that represents the masculine and feminine
gender of each other, that best fit the
meaning of the sentence as a whole.
Mr Ben, who was the at the school,
subsequently died and his mother continued
his proceedings as of his vast estate.
A. Priest, Priestess
B. Grandfather, Grandmother
C. Headmaster, Headmistress
D. Administrator, Administratrix
E. Emperor, Empress
Direction: A sentence with two blanks is
given, each blank indicating that something
has been omitted. Choose the words, a pair
that represents the masculine and feminine
gender of each other, that best fit the
meaning of the sentence as a whole.
Sir Raymond was married to a Russian

who had a large estate in Orel
province, and after the marriage, he became
the legal to the throne.
A. Princess, Princess
B. Washerwoman, Washerman
C. Mother-in-law, Father-in-law
D. Lass, Lad
E. Heiress, Heir
Direction: A sentence with two blanks is
given, each blank indicating that something
has been omitted. Choose the words, a pair
that represents the masculine and feminine
gender of each other, that best fit the
meaning of the sentence as a whole.
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David and Mary, who were a and
a respectively and always lived
according to monastic rule together with all
their followers.

A. Postmaster, Postmistress
B. Son, Daughter

C. Monk, Nun

D. Shepherd, Shepherdess
E. Waiter, Waitress

Direction: Read the given passage carefully.
Choose the most appropriate option from the
given alternatives which expresses the
summary of the passage.

The Internet Protocol (IP) is the principal
communications protocol in the Internet
protocol suite for relaying datagrams across
network boundaries. Its routing function
enables internetworking and essentially
establishes the Internet. IP has the task of
delivering packets from the source host to the
destination host solely based on the IP
addresses in the packet headers. For this
purpose, IP defines packet structures that
encapsulate the data to be delivered. It also
defines addressing methods that are used to
label the datagram with source and
destination information. Historically, IP was
the connectionless datagram service in the
original  Transmission  Control Program
introduced by Vint Cerf and Bob Kahn in
1974; the other being the connection-oriented
Transmission Control Protocol (TCP).

i. Internet protocol is used to transfer data in
the form of packets from source to destination
on the basis of address in the packet headers
and addressing methods.

ii. Transmission Control Protocol defines
packet structures that encapsulate the data to
be delivered.

iii. Historically, when Vint Cerf and Bob Kahn
introduced Transfer Control Protocol, it was
connectionless datagram service. Later it
evolved to connection-oriented.

A. Only I

B. Only ii

C. Only iii is correct
D. Both i and iii

E. None of these
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Direction: Read the given passage carefully.
Choose the most appropriate option from the
given alternatives which expresses the
summary of the passage.

Starting in the late 19th century there had
been many accounts by scientists and
physicians on the antibacterial properties of
the different types of moulds including the
mould Penicillium but they were unable to
discern what process was causing the effect.
The effects of penicillium mould would finally
be isolated in 1928 by Scottish scientist
Alexander Fleming, in work that seems to
have been independent of those earlier
observations. Fleming recounted that the date
of his discovery of penicillin was on the
morning of Friday 28 September 1928. The
traditional version of this story describes the
discovery as a serendipitous accident: in his
laboratory in the basement of St Mary's
Hospital in London, Fleming noticed a Petri
dish containing Staphylococci that had been
mistakenly left open was contaminated by
blue-green mould from an open window,
which formed a visible growth. There was a
halo of inhibited bacterial growth around the
mould. Fleming concluded that the mould
released a substance that repressed the
growth and caused lysing of the bacteria.
i. After years of intense research and using
cutting edge technology, Alexander Fleming
discovered the antibacterial properties of a
mould and went to make antibiotics.

ii. Starting from the 19th century, scientists
had many accounts of bacteria-killing certain
types of moulds, but it was the concrete prove
came by a serendipitous accident involving
Alexander Fleming.

iii. Alexander Fleming discovered in his
laboratory in the basement of St Mary's
Hospital in London the antibacterial property
of a mould that had entered through a
window.
A.Only I

C. Only iii

E. None of these
Direction: Read the given passage carefully.
Choose the most appropriate option from the
given alternatives which expresses the
summary of the passage.

Kintsugi, also known as Kintsukuroi, is the
Japanese art of repairing broken pottery with
lacquer dusted or mixed with powdered gold,

B. Only ii
D. Both i and iii
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silver, or platinum, a method similar to the
maki-e technique. As a philosophy, it treats
breakage and repair as part of the history of
an object, rather than something to disguise.
Kintsugi can be seen to have similarities to
the Japanese philosophy of wabi-sabi, an
embracing of the flawed or imperfect.
Japanese aesthetics values marks of wear by
the use of an object. This can be seen as a
rationale for keeping an object around even
after it has broken and as a justification of
kintsugi itself, highlighting the cracks and
repairs as simply an event in the life of an
object rather than allowing its service to end
at the time of its damage or breakage.
i. The Japanese art wabi-sabi is the art of
repairing broken objects with lacquer dusted
or mixed with expensive gold; it symbolises
the importance of flaws and embracing them.
ii. Kintsugi is the Japanese art of repairing
pottery wherein the cracks are filled with
expensive material; it teaches that bad events
are a part of life and don't necessarily mark
the end of it.

iii. Kintsugi is the Japanese art as per which,
the cracks of a broken material are
highlighted with expensive metal, to increase
its value and sell it at higher price.

A.Only I B. Only ii

C. Only iii D. Both i and iii

E. None of these

Direction: In the given question, a

word/phrase is given followed by three
statements; I, II and III. Choose the pair of
sentences which can be combined using the
given word/ phrase when used at the
beginning of the new sentence.

Lest

I. The traders have become increasingly
reluctant to invest in the stock market.

II. The resources allocated for the railways
have shot up, meanwhile the government has
decided to accept more people in the
education sector.

III. The latest budget and the changes
introduced by the government might
completely change the economic structure of
the nation.

A. Only I and III
C.Only I and II
E. None of these

B. Only II and III
D. All I, IT and III
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Direction: In the given question, a
word/phrase is given followed by three
statements; I, II and III. Choose the pair of
sentences which can be combined using the
given word/ phrase when used at the
beginning of the new sentence.

Since

I. War historically has interrupted the flow of
consumer goods,

II. Wars are considered to bring laurels to the
victor.

ITI. Preserving our hard-earned possessions
provides an additional disincentive to war.

A. Both I and II B. Both I and III

C. Both II and III D. All I, IT and III

E. None of these

Direction: In the given question, a
word/phrase is given followed by three
statements; I, II and III. Choose the pair of
sentences which can be combined using the
given word/ phrase when wused at the
beginning of the new sentence.

Although

I. Miss Sullivan is rather amused than
distressed when someone, even one of her
friends, makes mistakes in published articles
about her and Miss Keller.

II. She sees that Miss Keller's book should
include all the information that the teacher
could at present furnish.

ITI. Accompanied by Miss Sullivan, Keller is
desirous of making a complete inspection of
the Exposition in all Departments.

A. Both I and II

B. Both I and III

C. Both II and III

D. All I, II and III

E. None of these

Direction: A sentence with two blanks is
given, each blank indicating that something
has been omitted. Choose the words, a pair
that represents the masculine and feminine
gender of each other, that best fit the
meaning of the sentence as a whole.

The uncle described his and

as naughty as their father was
during his childhood.
A. Prophet, Prophetess
B. Protector, Protectress
C. Master, Mistress
D. Nephew, Niece
E. Actor, Actress
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Direction: A sentence with two blanks is
given, each blank indicating that something
has been omitted. Choose the words, a pair
that represents the masculine and feminine
gender of each other, that best fit the
meaning of the sentence as a whole.

On the one hand, the man was looking for a
wedding ring for his , while on the
other, the woman was planning a surprise
party for her
A. Fiancée, Fiancé

B. Murderess, Murderer

C. Bride, Bridegroom

D. Conductress, Conductor

E. Goddess, God

Direction: Read the given passage carefully.
Choose the most appropriate option from the
given alternatives which expresses the
summary of the passage.

The Great Depression was a severe worldwide
depression that took place mostly during the
1930s, beginning in the United States. The
timing of the Great Depression varied across
nations; in most countries it started in 1929
and lasted until the late-1930s. It was the
longest, deepest, and most widespread
depression of the 20th century. In the 21st
century, the Great Depression is commonly
used as an example of how far the world's
economy can decline.The Great Depression
started in the United States after a major fall
in stock prices that began around September
4, 1929, and became worldwide news with the
stock market crash of October 29, 1929
(known as Black Tuesday). Between 1929 and
1932, worldwide gross domestic product
(GDP) fell by an estimated 15%. By
comparison, worldwide GDP fell by less than
1% from 2008 to 2009 during the Great
Recession. Some economies started to
recover by the mid-1930s. However, in many
countries, the negative effects of the Great
Depression lasted until the beginning of World
War II.

i. The Great Depression was a global level
economic depression which was triggered with
the market crash of 1929 and went on till late
1930s for most of the countries.

ii. Great Depression was a period of severe
depression in teenagers and young adults
which  happened majorly due to the
uncertainty and disruption cause by the world

war.
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iii. The Great Depression started after World
War - II and lasted for over a decade, and
now is a widely used example as to how much
the world’s economy can decline.

A. Only I B. Only ii

C. Only iii D. Both i and iii

E. None of these

Direction: Read the given passage carefully.
Choose the most appropriate option from the
given alternatives which expresses the
summary of the passage.

Chapter XVI, Section 377 of the Indian Penal
Code dating back to 1861, introduced during
the British rule of India criminalises sexual
activities against the order of nature,
including homosexual sexual activities. The
section was decriminalized with respect to sex
between consenting adults by the High Court
of Delhi on July 2009. That judgement was
overturned by the Supreme Court of India on
11 December 2013 with the Court holding
that amending or repealing Section 377
should be a matter left to Parliament, not the
judiciary. On 24 August 2017, the Supreme
Court ruled that the Right to Equality was a
fundamental right, called for equality and
condemned discrimination, stated that the
protection of sexual orientation lies at the
core of the fundamental rights and that the
rights of the LGBT population are real and
founded on constitutional doctrine.
i. Though section 377 of the Indian Penal
Code criminalized homosexuality in India, the
law has been subjected to numerous debates
and has ultimately been overturned.
ii. In its landmark judgement on 24 August
2017, the Supreme court ruled that the
protection of sexual orientation lies at the
core of the fundamental rights and it may go
a long way in overturning section 377, which
criminalizes homosexuality.

iii. After years of debate and turmoil, it is
only recently that the rights of the LGBT
community are being realized and soon

section 377, which decriminalizes
homosexuality, might be amended.

A. Only I B. Only ii

C. Only iii D. Both ii and iii

E. None of these

Direction (149-155): Read the following passage
carefully and answer the questions that follow.
Certain words are printed in bold to help you locate
them while answering some of these.
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The economy of the United States is a highly
developed mixed economy. It is the world's
largest economy by nominal GDP and second
largest by purchasing power parity (PPP). The
U.S. GDP was estimated to be $18.46 trillion
in 2016. It had the world's seventh-highest
per capita GDP (nominal) and eleventh-
highest per capita GDP (PPP) in 2016. The
U.S. dollar is the currency most used in
international transactions and is the world's
foremost reserve currency, backed by its
science and technology, its military, the full
faith of the US government to reimburse its
debts, its central role in a range of
international institutions since World War II
and the petrodollar system. Several countries
use it as their official currency, and in many
others, it is the de facto currency. Its largest
trading partners are China, Canada, Mexico,
Japan, Germany, South Korea, United
Kingdom, France, India, and Taiwan.

The US economy is fueled by abundant natural
resources, a well-developed infrastructure, and
high productivity. It has the second-highest
total estimated value of natural resources,
valued at $45 trillion in 2016. Americans have
the highest average household and employee
income among OECD nations, and in 2010 had
the fourth highest median household income,
down from second highest in 2007. It has been
the world's largest national economy (not
including colonial empires) since at least the
1890s. The U.S. is the world's third-largest
producer of oil and natural gas. It is currently
the largest trading nation in the world as well as
the world's second-largest manufacturer,
representing a fifth of the global manufacturing
output. The US not only has the largest internal
market for goods but also dominates the trade
in services. US total trade amounted to $4.92
trillion in 2016. Of the world's 500 largest
companies, 134 are headquartered in the US.
The United States has one of the world's
largest and most influential financial markets.
The New York Stock Exchange is by far the
world's largest stock exchange by market
capitalization. Foreign investments made in
the US total almost $2.4 trillion, while
American investments in foreign countries
total over $3.3 trillion. The economy of the
U.S. leads in international ranking on venture
capital and Global Research and Development
funding. Consumer spending comprises 71%
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of the US economy in 2013. The United States
has the largest consumer market in the world, with
a household final consumption expenditure five
times larger than Japan's. The labour market has
attracted immigrants from all over the world and
its net migration rate is among the highest in the
world. The U.S. is one of the top-performing
economies in studies such as the Ease of Doing
Business Index, the Global Competitiveness
Report, and others.

The US economy went through an economic
downturn following the financial crisis of
2007-08, with output as late as 2013 still
below potential according to the
Congressional Budget Office. The economy,
however, began to recover in the second half
of 2009, and as of 2016, unemployment had
declined from a high of 10% to 4.7%. In
December 2014, public debt was slightly more
than 100% of GDP. Domestic financial assets
totalled $131 trillion and domestic financial
liabilities totalled $106 trillion.

Source: https://en.wikipedia.org

Which of the following isn’t a factor that has
made the US economy successful?

A. High productivity

B. Lack of immigrants

C. Abundant natural resources

D. Well-developed infrastructure

E. None of these

In which of the following fields does the US
rank third in the world?

A. Manufacturing

B. Finance

C. Oil and Natural Gas

D. Coal and Petroleum

E. Exporting manufactured goods

What effect did the labor market have on the
immigrants?

A. It has attracted immigrants from all over
the world.

B. Immigrants are yet not sure of the potential of
labor market and so they give US a miss.

C. There is no direct influence

D. No immigrants are allowed in US.

E. None of these

In which of the following sector does the US
hold a 20% share in the global output?

A. Coal and Petroleum

B. Manufacturing

C. Oil and Natural Gas

D. Primary Sector

E. None of these
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Why is the US dollar the most used currency
in the international transactions?

A. Because it is very well made.

B. Because a strong backing makes the US
dollar a safe currency to make transactions in.
C. Because the US currency often remains in
fashion.

D. Because the US dollar has chips that can
be tracked, so risk of foul play is the least
when transactions are done in US dollars

E. None of these

Which of the following was a repercussion of
the financial crisis on the US economy?

A. The US economy wasn't affected at all.

B. The US economy went through an
economic downturn.

C. The US economy started to rise following
the financial crisis.

D. The US economy stagnated for a while.

E. None of these

Which of the following is the most suitable
title for the given passage?

A. The financial crisis of 2007

B. Globalization

C. Economy of the United States

D. The importance of World Bank

E. None of these

Direction (156-160): In the following
passage, there are blanks each of which has
been numbered. These numbers correspond
to the question numbers; against each
question, five phrases have been suggested,
one of which fills the blanks appropriately.
Google claims that a new deep learning model
designed by it and its UC San Francisco,
Stanford Medicine, and The University of
Chicago Medicine colleagues has predicted the
'inpatient mortality' (###Q1###) of 95

percent. Machine learning, which was
previously applied to actions like traffic
predictions, translations and like has, in a

recent attempt, been used for healthcare by a
Google team. The (###Q22###) the
computer system came out to be astonishingly
accurate, as they predicted if the patient will
stay long in the hospital with an 86 percent
accuracy and further unexpected readmissions
with a 77 percent accuracy, marking 'statistical
significance' in the area. In addition to making
the predictions, the deep learning models were
also used to recognise the patient's condition.
Google gives an instance for this: "if a doctor
prescribed ceftriaxone and doxycycline for a
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patient with an elevated temperature, fever
and cough, the model could identify these as
signals that the patient was being treated for
pneumonia." In a blog, Google calls its program a
"good listener" (###Q3###) to gather the
patient's data including their ongoing treatments
and notes. The new program aims to eliminate
the discrepancies caused by different Electronic
Health Records (EHR) found in individually
customised EHR systems of hospitals. In essence,
the patient data differs from one hospital to
another. To solve this, the deep Ilearning
mechanism reads all the data points from the
patient's EHRs and then decides which data can
be used to (###Q4###). The program also
identifies the specific data set which it used the
make the prediction. Google protected the data
used for this observation (###Q5##i#)
including "logical separation, strict access
controls, and encryption of data at rest and in
transit".As of now, Google says that the entire
idea is still in its early age and that the test
simply suggests how machine learning can be
used to improve healthcare.

Find the appropriate phrase in each case.

. having a range

. to an extent

. with accuracy

. approximately around

. can be assumed

Find the appropriate phrase in each case.

A. logical estimations of

B. clinical predictions by

C. approximations made with

D. probability made by

E. measurements calculated by

Find the appropriate phrase in each case.

A. of its facility

B. as it is efficient

C. due to its power

D. because it's suitable

E. for its capability

Find the appropriate phrase in each case.

A. combat the situation

B. predict the outcome

C. suggest alternatives.

D. make a point

E. come to a conclusion

Find the appropriate phrase in each case.

. using prevention techniques

. by authenticating

. use some features

. by eliminating problems

. with security measures

moOwm>

moOw>
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fader (161-170): M= fAw 97w arenier &1 earTadsH
afev R 3@ W IRT gt & 3R AWC| Fo
Wse el A IERT § Al e arv &1 Sa@ 3maenr
FS TR & IR el H Fergdr el

A IMIF Jefy 3R 7 d-adent &1 afq & &
el HRAAT Fr 3 A Fr FEET H Uh-fAgs
fREERy € 3R 3 &2 & FFha W 3796 (STE) &
60 wfaera & 3% AR &d &1 & "R
¥eqaedr & AU #Ageaqul & § Fife Ig 269
3T 3PN & SIST §IM g1 AT & & e
VSR g, Tehel W] 306 A gefr 3R
IATETAT #H GIT & Ik W AT JATT ISaT ¢
gferr X & ¥F AR FEgw R o W §
ferz e va wredl A @ Sitger $r Iporadr
3R @l & WIATTSTR AT 3T HedroT W HgeaquT
T QYT 1 2TeRT & FBIAT BT HAT R gdTS 3mara
Td A IS I HATT GART ATSA cAehetieh
g, 2012-17 & IHJAR 187.8 oW Hepleil T Hal
gl

JTSET & 916 F AR of INNET A AFIA Galtel & oo
F$ sAifaar IR FEFA AU § A feAfw
HFAIRT 3R INTF & @ FAAR o7 & AT v
qfeHsl gobc HETET AT (1952), HA I 9l
AT ISt (1956), FIIN FUR/ZeHeled Arstel
(T TR W 1956 H 3R 3R 1972 & FaATd)|
WHR o frerrc smae & gelfaat & Agea &
fow &8 Afdera 3ura off e &1 ggel T marw
;hﬁraﬁra’lwwssﬁgélmﬁmaaﬂﬁa:
g 1994 & FgNfag N 3m$| 1998 & A% AT
Td A g & avor Y 7S] 2007 H Th &5
Aifa T edY 3mard va gTar SAifd o awor H
IS, Torae asl & fow fRwradT 3mara &1 oe g ured
X 29 AT TR & el e S
SGraT S T AT HET TS| AHN A FUN & 0 $S
3T R &, [Segial fhwradT 3mara & o fAaer &
e S aor fear &1 1 ®S, 2017 & @wp
forar I Rger teee Aaer e (fie) 3fq, uresf
dlel & IR wafea Rae weee &7 &1 Fas
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T ¢, a8 gt &1 REr Jear § 3R gt &
feeT GRIaTT B €1 3are shall3it &l fadehglel S
¥ T & U #ART WER o NI weee
(afeaw @ fawm) fafaad, 2016 #ATHE Ageaqon
el 1 AS 2017 & o@T @7 2016-17 3R
2017-18 & solc & 3R IFfAfaged Hir arr 80
BT F AT YcTET oH HRoT SRy =i
Raradt, thaRms 3R SHET gEaar # fears aur
FYe TRAT Y IRATT & ATADIPOT ST FeAT &
3feTohel ATATaRUT AR el T gfaare & ar|
e B fAwer (vades) el faem #@are &
ST A &, ST ofeg 37 el @l dorar & g,
foretet Hesa gy arar 3ueretr @iar § 3R T
TRl T JATET Y 3791 FATETRERT I et J[0TaT T
Siael Yelel fohar SITdr g1 37eel Sdieol Td AR
aRacte TR (31#d) Tcdeh aRaN &l 9r=ir 1 AT
Td HIAST HeAeRle JaTad A, Yol &7 &l dgcR dellel
3R ATATAET Faelr Fraensit & STRY TqwoT e Hlel
&1 YATH T ¢ dlfeh HebTell Y FHersqd gorame arem
&er |

Fog THR o Fadh T marg A, S guras=
3Tard AStar 3 FEr ST §, & dgd 305 UE;r T
JIRT A Rifegd fFar §1 3@ 37T 2022 d& T8l
IRET & fIT 2 I3 o T FT oI8T g

WHR o fhorgcdr marg & gAfadr i f@ued &
T ggel i & Afa $Hr awor $ir 715?

A. 3TarT U 9ITaTd sifa

B. 3aSHT HETH Jrstell

C. TUTIHAT TaTE st

D. ISERT AT =it

E. o781 & IS w1gi

T 71T aR=de & ITAR, HaE ARAT Jrdegaedr
& fau #gcaqol &7 § FifF a® T
3T/ SI3T §3T &7

A. 262 B. 269

C. 275 D. 280

E. 318 & g 81
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g FIHR & @RI AT fAT & dgd fohcter 2t

g TIRT o Rifcea fFar =ar?
A. 269 B. 305
C. 187 D. 205
E. 318 & HIS o1gT

T T gR=sT & AR, HIA-@ Afd 7 Ardsticrn-
Ioll ATSIGRY & JaTaT &t &l a1 & 1S &7

A) TSERT AT 3TaTH Afd

B) IS 3ad wAfey

C) e Aifa

A. Fad A B. $adl B

C.A3RB D.A3RC

E. &had C

QT av uR=de & IER, A A AT A
W AR &

A. 37TeT AdR0T TF gl aRade e

B. TSI BT AT UF gAa fHere

C. TATe 7T e

D. TS G Afa

E. 3981 @ 1S 78T

fGT 9T aRede & AR, HH T & IEE
STl TATS ITS?

A. 1952
C. 2007

E. o181 & #1381

3TaTH 13l F fAdHET 3T9d ¥ T & fT AR
HIHN @ HieA-q A/ srRfaaa/asrsn omr e

A) FH AT T HERT At (1956)

B) WeHST I TR AT (1952)

C) fafaaa g fasrra wfAfATA (2016)

B. 1956
D. 1972

A. Fad A B. e B
C. A 3k B gt D. shad C
E. 31 & &I =IgT

qdad e vd Agdl I e AT ganT
ST TAehellehl Feg, 2012-17 & AR faheiel
HBIGAT T hef §2

A. 305 & B. 175 om@
C. 187.9 oii@ D. 190.0 o1@
E. 313 & &I =IgT
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fw arv aieee # gorer 1 faelie req gam-

A. IET B. 31@TdcT
C. fa=sa D. fa=rer
E. goer

QT v oR=de & AR 50 TR=SE F IHhFd
oY T gremr?

A. JTATH HeAT HI=AT

B. 81f3 srferargor

C. fagayor

D. fafagss &7 ¥ sermar &=

E. o8 @ 1S a7gr

e Ay o a7 YA Iy IR HET A Sier T §
S A, B, C 3R D & feU 10 § | 39eh I 8T &
F aFT & foReY 9RT & SATROT, JWTLSET & ITeld
STt i gt o B S IR A ¥ g I Qe e
g o TRl Ueh HET H & gIef, 39 HIT 3T halleh of
3R 81 3R a1y (gl © ol SR IS T w7 g
g ¢ 6 WraRor AR (A)/ 39e ARt AR
AT & (B)/ 9fa fdar SI9%aR g, AT (C)/ &
gRadel 3deir & st ¥ 3meen| (D)

A. G g A B. @t B
C.aFa C D. ar&F D
E. #1$ 3¢ w7gt

fAder: ST T 11 IS arFy AR AP H §ier Ir
g =g A, B, C 3R D &ai® few a1v §| 39l I8
W § o areT & fHd) 99T F chrehuT, TN, Qrsal
& areld AT A7 3 g A S JE A G §1 qRE
3R R ar gt & foRelT T ser 7 € geft, 39
$T3T T ShATeh 81 3R ¢ 3R arerg M@ § l 3R
IS Afe AL G |

AT & HAT (A) / # TH & (B) / G aR=-faor
(C) / foam arm g1 (D)

173.

174.
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A&er: S I I 9AF arey IR HEW A sier Tar
g =% A, B, C 3R D ®&is fou 7w §| 3mus I8
@ g oF ot & foRdY o9 3 SITeRTuT, oTVT, QUsal
& el TAT AT 38 g B HIS qfe ar AL g1 A
3R gRl oY are & T U e & & @l 39
$T3T T SheTeh g 3T g1 3R areFy e & ot 3R
IS fE AL g |

38 GHY (A) / Hel (B) / #F & &9 (C) / dhao
=1fgT (D)

A. aTFT (A) B. I (B)
C. arFg (C) D. arsg (D)
E. 7% 3R a7

fo&er: S I I 9AF arey IR HEW A dier ar
g 5= A, B, C 3R D ®ai® feu arv §| 39T I8
2@ & TF argg & fordl H19T H IO, TN, Asar
& Teldl FANT AT 3 g B HIS qfe ar AL g1 AR
3R R ar arFT & AT T HeT 7 gr gefr, 39
ST T AT &1 3R ¢ IR arF IR ¢ af 3
FIS Ife T g |

§AR THIY (A) / SHH &1S (B) / Y@ (C) / T 7
gl (D)

A. TET (A) B. AT (B)
C. a4 (C) D. ar#% (D)
E. 1S 3¢ w7t

fader: s far 197 uAs arey IR HEN # dier =T
g Beg A, B, C 3R D ®aAT® U 1T §| 39l I
¢EaT g foh arer & fondY 19T H cTTHoT, HIWT, erear
& areld G AT S AE A S A A 7 F AR
3R g A g & fRET U ST A 8 gef, 39
HIT T FHATH & 3 &1 3R arFT TRIRA § o 3
IS Afe TG ET |

SdTel & WS FAELY (A)/ & HRUT 3Tk ATl

A. arg (A) (B)/ & WHAR &I glet (C)/ arell Sk TAFAT T &
B. @ (B) gl (D)
C. arFg (C) A. g A B. @ B
D. @ (D) C. aeg C D. @& D
E. &I Ife =g E. &I Ife =78l
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177.

178.

fS&er (176-180): Aerafaf@d arat & 30 Tud
T e 37 dEar 1 3R 6 & 3ided Ru v g
I arer IR 31 (), (), (), (T) & Fada foar
FH & FIART 37e FF 3R FAGER @Efed &
3T fasheq &1 T Y |

(1) @ew 3R 3ncAfaRarT & @y Sar & g=ar
Siraet g1

(F) W FFT & A TgTs o I9ar AT ST o
gl

() TF IR IFAHA gl I Y a8 3797, v faeara
g AT TR A R I AT g

(o) 31K gTRT 3Hh I TAeh TQI Beehell |

() |rEdT gfFa -4 9= el =gl S|

(6) W & fFd 379t IS T AT & T 81 &

A.ldaddg B.eoT¥Tad
C.aiad D.¥Iecld
E.¥gald

(1) AT I HGAT 3T% ATET I AT &

(F) 519 §H AT & TR & dieldd § o d T GER
e W A drue

() 3R ARG T ST HTeTd-Tehell T Tl &
(o) Goitd Y&l T AT FeATehT

(T) AT T gU-g: T HT FHAT

(6) AJST o AT g & §

A.TTdT B.oT¥ad
C.I¥dgqa D.a¥ad«
E.a4TY¥a

(1) RO Aad: HER eeg § 3R 3EeT &
‘RO’ Qreg &7 gATIATT d2ar Aifgfcas A1 &1
(u)sﬂﬁgmmqﬁmaﬁamtrmﬁ@r
fafrseansit w1 fash geA Adeor & uR w
A [Faae gar Aowor giar & |

(¥) 9 39 v&R fawar ¢ & a5 S 3o fow w1 &
ATAT 35T 3TET @ & &l

(o) Reldisr & or@es &1 379a qof fawyr &1 qof =

179.

180.
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(6) sEHI A FeRocA® Tur auTecHS Biar &,
e w¥erar, A=rehdT, ATeAaar qur geraquidr &t
faey #gea g &
A.TITT B.3aTqg
C.ITAT D.qTTT

E.qdIT

(1) afg ag o= &1 Aeamedf &

() 3% a5 TFFa @1 I A §

@) foreq et g &7 3uatoT & o Hehel §

(o) it a8 Ferel U o1 Tehell &

(7) ar g SRR AT AT HT FH H ThT 3

(6) 3R FaTer 3R TS & TareT & ag 39 F

3EAY 9T g

A.TTdT B.Tggd

C.aITTI D.ddTT

E.aaIg

(1) TG AT 3 UCH TH R $RIAT Flah T &Y
3R Tl 93T &

(T) 319 1 a8 F1g fGem S & T

() 39 8 Gl AT T 38 IR arel 387 &
I gl T TqHhl g

(1) T 38 A 379 o 95 W@ &

() JFER ARG T §[eITAT TET ST HehelT |

(6) TH TE @ aY Ugd & AW-GAlderFdl Sha &,
U] o HIY Teh Hg W e’ arel 3R = arel|

A.dITTqg B.aTerd
C.aald D.of¥ad
E.Tade T

forder: AR 2reg foU av § TS @ v & adel deel
I & wachr &1 30 g weg & 3IHT I grem|
e IR 2rse; ey ford gt ar Fefl ey & 39 1 3R
g |

Sy A. FE3HEY B. SgHcT
(a) Rocisr & At gear &1 58 YR auie fhar C. ggfasidr D. fssheish
ST & T uTas 399 gefad & Srdr gl E. @ef e &
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182.

183.

184.

185.

fadar: J=) ereq faw 1w § ot @ U & ool gaeh
e & Fhell &1 37 JfeFFA A & ITIHT T |
I TRt eree; ey o gF ot @l ey § 39 1 3a%
gl |

A. gt B. IiSam
C. 39l D. wdifgemeer
E. qaft eeer &

fordar: S erq fow a0 € Foieat & e ettt Haelt e
81 Tehcll 8| 38 e WUse; 8T JATIhT 3TR G| Afe; IRT
oreg; ety oI gl ot @l erer § 31 a1 3R g |

A. quafafd B. $7ATaAy
C. oot D. gaeft
E. @ef ey 8

fa&er: sl ereg few 910 § o1 @ T acel Heelr
T &1 T &1 37 P g 1 IIHT AL B
Ife aRY ereg; ey ford gf o |aft ey 8 3 &1 3R
g |
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EfFEeT RT & TAgI8l & GH T ool [hAT AT I T
(###Q188###) g uTl AR cFwsr & ar
gfey A &1 AT g 9= A7l ¥ & SgHeN J2r
IR CERS qHS | SEHAT T Fr
(###Q189# ##) Held: Teh STEAVT GaRT &1 15 Y|
Wﬁmﬁﬁﬂmﬁaﬁrﬁwa@maﬁ,aﬁ:
3T ORI o HHHAE H (###QL90###) Tohar
AT AT| A, IRT AT Jeht Tod F HHAAA 3|
ureeT & Al o gH@ (###Q191###) feam
IAT| AT & FRIAT AT JFH 37l & MR T
T TUTYT HI| IMeIHUST T dleT & AT I Is7 &
ARSI A [T T haT| VR T AR H RWed
STEATT IRERT 7 e sEemd e 39 form e,
3¢ U f&ar aram| g8 #Hifa I gaft emaes sheeXarg
JAT (###Q192# ##) h UTATATY FeAh ATHT el
S A1 STET A (###Q193## #) g Setar & ufa
3ol GAIfd #1 TFEECY U, 9§ G FHgdl adr
(###Q194###) &1 & o T vy faws gar
g Rt 7 gfifws IRa & Aege R I

A, affA= B. ATHSET T TATIAT, HTEAH AT o [T Teh HgToT Felclr AT
C. TRt D. fyaf arqd: I fewgail & U o1 (###Q195##4#)
: STIgTd T I3 Tl
E. W e § e O 186. 5 ertt 3 M Q1S T G
foréen Y ersg feu 71w § o & U & aden geel R 5. e
FfE g Tt §1 3T IRTFa Usg & 39T 3% g . -
%aﬁ%m%@ﬁ@%sﬁuﬁe@%mwm C. erg3it D. SR
o E. JaRehi
A, e B. Haeg 187. cdeh sl H 3 e & IaTl o9y |
C. =g D. geRTgfr A. T B. 3y
E.qsfradr ¢ C. TR D. YREH
fader (186-195):7 1 fov av gy # Rad E. 3faeer
T T it Ao | 188. Ycdeh wRaT H 3 2reg T Il of@my|
feeel Tedeld & Sgd e HREH (###Q186# # #) A. 3T
ﬁaf?aﬂmaﬁr;ﬁtmﬁmlwmﬁm B. 3/ %d
TS F& &A1 dh @11 eli3ele el o afeas C. G
HR S Slidel T (###Q1L87###) 31ay forar am| D.
W] 3eTohl 3Tel AT H g AT A1l Hhael $o £ _
HHI T A S e T or| #HigeAe qerer o
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189

190.

191.

192.

193.

194,

195.

196.

9% 92T & 3T U T gar T

A. gfaeier B. T
C. fawerar D. W&
E. Tafaia

e T2t 7 3T TG T Il 9y |
A. qufaa B. 9Ra

C. ganifada D. fawfaa
E. 3mHRT

e T2t H 3T 276G T Il 9y |
A. &TET B. §aT

C. ¥R D. ¥4
E. g&afr

s T2l H 3T 2T &1 9T 9my|
A. STATHAIG B. 3fTdehdrg
C. gARNERG D. Agerare
E. =ararg

s T2l H 3T 2T &1 9T S9my|
A. T B. SgHETH
C. 3= D. SET&&h
E. 3memardr

YA et # 3 Asg T 9T ey |
A. 3THATIAT B. @iy
C. fayr D. =gyl
E. ffee

YA el H 3T Asg T 9T ey |
A. THATH B. SHeoldl
C. "®ardr D. aiaqut
E. ¥auifa

oéen: Afef@a o # ¥ IR @AW asg E
g U U Usq et AT 37 §, gy MU IR

gl

A. et B. el
C. &1 D. 37T
E. feraer
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@A eafaf@a ulg & @ IR gaendt osg )
T T T Usq el T AT §, I 3 W

g

A. 3RS B. 3M&T
C. faera D. 37a&eT
E. &=

e Peafaf@a ofa & & IR gaendt esg £
T ¥ T Usq el AT AT ¢, I 3 W

grem|

A. TrEAT B. 9y
C. &R D. ddle
E. ara

e Peafaf@a ofg & & IR gaendt esg £
T ¥ U ereq e fe@m I &, I 3 3w

grem|

A. AT B. &
C. & D. faeR
E. g&dr

Refafad org & & IR gaedt e §1 59 sais
50 ReeT ersg T a7 &, IEY 39T 3T BT

A. IH B. fear
C. g D. arEY
E. fgag

can interpret voice data into words
that can be understood by the computer.

. Speech input hardware

. talking software

. word recognition software

. speech recognition software
. adobe reader

set of step-by-step procedures
accomplishing a task is known as a(n)

A. algorithm B. hardware program
C. software bug D. firmware program
E. None of these

Which of the following refers to the process of
a computer receiving information from a
server on the Internet?

A. gathering B. uploading
C. inputting D. outputting
E. downloading

> moONw>

for
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204.

205.

206.

207.

208.

209.

210.

211.

Firewalls are generally used
against___.

A. fire Attacks
C. virus Attacks
E. None of these
In a web site, the *home’ page refers to .
A. the best page B. the last page

C. the first page D. the most recent page
E. the oldest page

PCs are considered fourth generation and
contain

A. Information

B. Data

C. Vacuum tubes

D. Very Large Scale Integrated (VLSI) circuits
E. None of these

A hard copy of a file created on a computer
refers to data

A. saved on a floppy disk

B. printed on a printer

C. backed up on a tape drive

D. sent as an e-mail

E. None of the above

The operating system that is self-contained in
a device and resident in the ROM is .

A. Batch Operating System

B. Real-time Operating System

C. Embedded Operating System

D. Mutli-Processor Operating System

. None of these

A language used in a computer that is similar
to the languages of humans and is easy to
understand is referred to as____.
A. Source code

B. Machine Language

C. High Level Language

D. Object Code

E. Assembly Language
Information stored in RAM
volatile, which name it is

A. stored there permanently.

B. not held permanently, only temporarily.

C. stored when the electricity is shut off.

D. stored permanently in the CPU device.

E. None of these

To copy a cell, you would drag the cell border
while simultaneously holding down the Ctrl
key when

A. You have one more to copy.

B. Only some of the cells are visible in the
window.

to protect

B. data Driven Attacks
D. unauthorized access

m

is considered
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214.

215.

216.

217.

218.
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C. You don't want to refer to absolute
references.

D. The distance between cells is short and
they are both visible in the window.

E. None of these

What is the base of hexadecimal number
system?

A 2 B. 8

C. 16 D. 10

E. None of these

Compatibility, with regard to computers,
refers to

A. the software doing the right job for the
user
B. it being versatile enough to handle the job
C. the software being able to run on the
computer
D. software running with only other previously
installed software
E. software permanently available
computer
Until a computer can recognize handwriting,
an input device must .
A. store the information in secondary storage
B. optimize the information
C. digitizing devices
D. show the information of the screen
E. become an output device also

are often delivered to a PC through
an email attachment and are often designed
to do harm.
A. Viruses
C. Portals
E. None of these
After you’'ve opened a window, the button
that displays the window over the entire
screen is
A. Scroll box
C. Restore down
E. Maximize
What kind of server converts IP addresses to
domain names?
A. DNS
C. UTP
E. None of these
A type of channel used to connect a central

in the

B. Spam
D. Email messages

B. Downsize
D. Minimize

B. MNS
D. RTP

processor and peripherals which uses
multiplying is known as .

A. Modem B. Network

C. Multiplexer D. All of these

E. None of these
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219.

220.

221.

222.

223.

224,

225.

226.

227.

The digital telecommunications term ISDN is
an abbreviation for .

A. Integrated Standard Digital Networks
B. Internet Services Data Network

C. Interactive Standard Dynamic Networks
D. Integrated Services Digital Network

E. None of these

CAD stands for, .

A. Computer aided design

B. Computer algorithm for design

C. Computer application in design

D. All of the above

E. None of these

Telnet is a based computer protocol
A. Sound B. Text

C. Image D. Animation

E. Digits

Primary key is a

A. Common key B. Unique key

C. Input key D. Output key

E. None of these

A is a grid with labeled columns
and rows.

A. Dialog box B. Worksheet

C. Clipboard D. Toolbar

E. None of these

The full form of VDA is .

A. Virtual Desktop Access

B. Visual Desktop Array

C. Virtual Desktop Array

D. Visual Desktop Access

E. None of these

Pressing CTRL + 9 in Excel

A. Prints 9

B. Prints

C. Prints 9 followed by spaces

D. Inserts 9 cells at the current location
E. Hides the current row

Kernel is a central component of

A. A part of operating system

B. An operating system

C. A hardware

D. A register

E. None of these

The keyboard shortcut to centralise the
selected text in Word is .

A. Ctrl + Esc

B. Ctrl + C

C.Alt+C

D. There is no keyboard shortcut for this
operation

E. Ctrl + E
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233.

234.

235.
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XML stand for .

A. Extra Markup Language

B. Excellent Markup Language

C. Extensible Markup Language

D. Extended Marking Links

E. None of these

Excel worksheets documents are stored in a
file called

A. workforce
C. worktables
E. workbooks
In which technique, data is stored in several
disk units by breaking them into similar pieces
and storing each piece in separate disk?

A. EDI B. RAID

C. DISK D. Floppy

E. None of these

The computer that process both analog and
digital is called ___.

A. Analog computer B. Digital computer

C. Hybrid computer D. Mainframe computer
E. None of these

Which protocol does Ping use?

A. TCP B. ARP

C. ICMP D. BootP

E. None of these

A hacker that changes or forges information in
an electronic resource, is engaging in

A. denial of service B. sniffing

C. terrorism D. data diddling

E. None of these

A set of information that defines the status of
resources allocated to a processis____ .

A. Process Control B. Process Description

C. ALU D. Register Unit

E. None of these

FTP is better than HTTP because

A. It uses separate channels for
transmission and flow control

B. It transfers data from the web server
C. It transfers data from the file server
D. It copies files to the user’s hard disk in the
destination specified by the user

E. None of these

A _ is a Computer connected to two
similar types of networks.

A. link B. server

C. gateway D. bridge

E. None of these
ATTEMPT NOW
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237.

238.

Which of the following is not characteristic of
a relational database model?

A. Tables

B. Treelike structure

C. Complex logical relationship
D. Records

E. None of these

A data warehouse .

A. Contains numerous naming conventions
and formats

B. Is organised around
areas

important subject

C. Contains only current data
D. Can be updated by end users
E. Explains some observed event or condition
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Every device on the internet has a unique

address that identifies it in the same
way that a street address identifies the
location of a house.

A. DH B.
C.IP D.
E. None of these

What kind of lock includes a keypad that can
be used to control access into areas?

A. Cipher B. Warded
C. Device D. Tumbler
E. None of these
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